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¥ +xl s 16 ia sxactly divieiHe by 1, where x i3
& pooitive integer. The hukbeyr of all auch

pusribile valwes of X i

(a} A
bt 4
el &
) DI

The numhor of fa, b, @), whone o, b ¢ oare

pogitive integers auch that abe = 30, is

{ay 30
l:'b}_ 27
w9
fd) B

If the roots of the gquadratic gguatien
¥ dr - log, N =0 are real, theo what is the

minimuwm value ol H ?

al 1

(b} %

il ﬁ
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The number of different sclutions of the
equation 2 + ¥ + 2 = 12, where each of ¥, ¥ and

% 15 & pleitive inkbeger, ia

‘(ap B3
(hy 54
et 55
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If T=a% +b¥+c!, where a and b are
ganetubve integers and © = pb, then [is

(a) aneven number and it is ook & aguare of
an integsr

(b7 an odd nussber and it B not B GQuare of
an ipteger

fc)  mguars of an even inbeger

(dl sguare of an odd intager

If the number 23F52871385 ix diviaible by the
amallest odd scmposite number, then what iz
the value of P ?
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1%+ 25 4 3B 4 a7 4 57 e divided by d 7
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8.  'What ia the digit in the wnit plaoe of 378 7 11.  If 179" ig divided by 1B, then what i the

remainder 7
inl 1

fmy 1
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[l T

el 18
iy 8 idr 17

B. LEM of two numbers R 28 timer their HCF. 12 What ia the value of

The sum of the HCF and the LCM % 1740 If 1 1 1 1 "
+ + ot ="

e of thens aumbera ig 240, then what is the 1+ V2443 3.3 86 + /100
other oumber ¥
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18. Ifx™= "hr:-: 1,|1~.-'; , then what in the value of

m?
10, tx% — g% e divigikle hy (¥ — a), whera x » s, for .
(&) natwral oamber n bl - 1
d
(bt even natural oumber o only 3
e} I

(] odd natursl oumteec noonly
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(d¥ prime number n only 1
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14.

The sum of all poarible products taken Lwa at
a time vut of the numbens 21, + 2, + 3, £ 4.+ 5
is

el

B — 30

i} - Gd

y 56

A rrain of length 114 m s moving 8t 8 ohifm

spoed of 132 kb, The time required to ctoss

a bridge ol lenyth 188 m is

ta} 8% seconds

by % aeconds

(el T4 weeonds

(dt &5 peconds

The simple interest on & Certpin gum is

dne-fourth of the sum. If the number of peare
and  the

rate of wnnual intersst are

numecically  equal, then the numbar of

YEATE I8
I[m 2-B
by 3
fc] 28
dr &
DEOL-TLEM

1V,

18.
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A 60-page bowk hae © linea par pegs. IF the
nurober of lifgw were reduced By 3 in each
page, the oumber of pages would have to be
increased by 10 to glve the same writing

gpace. What iz the value of L 7

ta) 18
th} 21
i) 2a
0 30

IF x men working x hours per dey can e
x units of work in x daye, then ¥ men working
¥ houra per day in ¥ days wauld be nble to do

k units of work. What i thavalue of k£ ¥

fa)  xEy—
(b xfp2
[c) 5.'21'3.
o’ -
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I Let din) denots the pumber of positive divieors |21 A shophkeeper selle his articiee Bt ther coat

of u pasitive integer n. Which of the fullewing price but wees a Mubly lulance which mads
I 0K g dor S0M) . What is the nctual profit
perTen g 7
1. digy=di1ly
lar  20%
2. clf %) A1 11" = Al B5
iy 2R
Solert the cortect angwer umng the code given d) 4D

helowr

(@] 1aod3only
23, A rver 3 ™ deep and 40 m wide is Aowing at

the rate of 2 konwhre and falls ints the sca,
(el 2and 3 ounly Whst ik the emount of water in Yitres tiac will

th} 1 and 2 oenly-

fall inte the saa from thie dver in & minate 7
d} 1, 2andd

(2}  4[btWE (6D likraa

(b 4 00D Tikbes
s, TiA, =F +1, where P is the producy of the

firet o prime nombers, then conswler the () 40,000 litres
folloaring gtobanweTits rdy o, W0 litree

1. A, isalwayas a compmite numbar,

2. A 4+ 2= nlwaye an odd nuimber.
An ¥e 28, Il 8 (elevizion set is sold at & x, o loss of 28%

3. AL+ Llis alwnys an even numibt. wonld be incurced. I it is sold ot ¥ ¥, a profit
af 19% woukd be incurned. What is the ratic of

Which of the above statements is'an: eorrect ¥ y U

e} Tonly fa] 41:%

th) 4 omly ' ' thy  3L:3

el 3 oealy icl 23:9

W) 2 and Fonly iy 1d:9
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24. By incransing the speed of his car by 16 knvhr, | 34
a person covars A distance of 300 km by taking
en hour lees than belore. What wae the
erigwial apeed of the ¢ar 7
re) 45 km'hr
k] 60 kmi'he
e} 60 kmvhre
{d) 75 looshr

96, Thres porsans  start 3 business  with
capitala an the ratio % : % ; %.Theﬁrat
person  withdraws helf hin capial  after Ead
4 mopths. What ia his share of profit if the
busineas fetches an anowal pmofit of T 56800 7
R A P AL
i T 34,500
b T 26,000
(d} * 368
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If x varies ac ¥, then which of the [ollewing
ialAre correct T

1. £ 4 v varles an x* — y*

X .
2. —5 varies mversely as ¥
¥

. ]
3. Wiy vesics as FPxiyd

Buleet the correct Answer using the codw given

below -

(o} 1andZ2only
ikl and 3 omly
el donly

idy 1,2and3

Era was borm 4 vears after her parents

marringe, Her mathar is 3 years youngsr than
her father ond 24 yeare older than Ena, whe i

13 years old. At what age did Eon’s father get

married 7

fa] I years
ikl 24 years
el | 8 vaars
i) | 22 yeara
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1 HOF =9 & 7

(e} 2+ 1

BT x+ 15
f x"! +1
iy x4+ 1r

$2. W WEW ¥ HCF #i LOM WEW 2w

A a0a® + ' - 0w - 3 F | AR T wE
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(ab 15x% +4x + 9
() 16x! +dx-3
el 1528 —dx + 3
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T
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28, Mahesh is &0 veara old, Eam s 5 yearal gy
vounger to Mohosh and 4 years alder Lo Raju.
Babu ia & younger brother of Kaju and he i
8 years younger. What iy the age differencs
betwsan Mohesh and Babu ?

(&} 1B years
by 16 years
ey 13 yoars
id} 11 vears
H B

29. The number of items in 8 beoklet = N, In the
firgt yeac there ie an inerease of =% in thia
number and in the subsequent year thers is A
decrense of x%. At the end of the two years,
whet will be the number of ibemas in the
okt *

(m) Leasthan ¥

¢bl  Egual to N

(¢l Mo than N

(d) 1t depends on the valus of N

). If ab + Ty ~%h=0 and be+yz—cr =0, then 3s.

whatis —+< equalto?
a =
ki
11 .
{b} b
¥
mr 1
iy D
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What ia the HOF of the palynomiala

o gxteda®o1 and ¥ e mfadx+ 17

el [x+1}
b (x+ 1F
€t x4l
i)z 1)*

The HCF ond #ive LOM of teeo polymomiale a1
v + 1 and Hhe? + T — L0 — 3 mapectively. If

one polymemisl i 82% + Bx + 1, then what is

the othar polymaomizal 7
iat  15xF + 4x + 3
by 15w 4 4x - B
) lEC—dx+1
W 15a% - gx-3

[l ip +2}(2g - 1w Zpq— L} and
ip— 2] (%q - 1 = 2pg - 1}, theo what i

pog equal to T
fa) -—-10
L} -E

e B

idr W
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= AR Fh R
at 0
bl 1
teh ac
a® 4+ c?
{d] b
B+
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el 2xf e x4+ 1
{dy  PxZyoe g
38, TF T 4wl K R W 37 W oeTEe 19 &
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HE W 27 o s ¥ | B o9 s= W
VAR T 7
(ak 36
b1 40
ol 48
id; B4
37. kK ¥ __¢E
xfe e . A Frafafim & 4
FHA- O A R
la} X+ydzcl
hl x—y-z2=0
vl x+¥-z=0
) x+3¥+3%z el
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ibi % e
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1A % u?
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4.  What iz the valus of

a* + ac aﬂ—nﬂ _ e + 3 .
al-c? a¥c+2ac® 4+ afaet Bac
far o
mr 1
ae
(et T ¢
a* ¢
. G
vl ]
a+c

8. Whaot s the square root of 4x% + Bx¥ —dx + 17
ol 2x¥-Px- 1
b 2xf-x-1
e} PxE+Bua+l
idr B rum-1
36. The sum of the digita of a two digit number is
13 mnd the difference between the number and
that fermed by reversiog the digits is 27. What
in the product of the digits of the numhbar 7
R
‘b1 A0
1] 45
idl 54
3, W — = Y_=_%  then which one af the
h+s t—m b-3
Following is correct 7
gl z+ey+i= 0
i x-y—z=0
el x+y—z=0
dy x+2vy+32=0
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X, ¥ and E travel from the memme place with
ustlform speeds 4 kmvhr, & kovhr and 6 knvhr
respactively. ¥ stamts 2 hours after X How
long atter ¥ must ¥ siare in order that they
overtake X at the same instant 7

{Erl = hours
(b} — hours
ok EE—' hrurs
1d] % oo

1-x—x%%+xl, where nis & naniral nembet,

i% divigable by
() i1+ e
YIS T 3T
fe]  L—%x=x*
fdy  14+3x=af

A person sold an articke for T 76 which cont
him *® x. He ficeda that he realised x% profit on

hik putlay. Whet is x squal tn 7

Lal 2L
(hy  25%
fer BOR
idr U
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44,

47,

(L
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i o Ty Fi T giim &, o Ptk i
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4. A par did a journey in ¢ bowms Hed the
average spocd been © kmph greater, the
jourmay wouwld have takeb v hours lese, How

long was the jowrmey T

‘ay xt—yity

by x{t—vity!

e]  Nit=y)ty =

(dF =i+ ¥y

42, When a ball is allowed ta fall, the time it takes
to fell any digkance vares ay the square root of
the distanre snd it tokes 4 Eevonds to
fall 78-40 m. How long would il take to [all

122-Bm 7

(el 0 seonds

thy 6B aeconds

ek 4 seconds

(dl &6 asconds

If 64 -9 470 = 3 [Given log,q2 = 5301 and
g3 = 0-477), then which one of the

following is correct ?

fa} O<x<l

[hl 1ok

el 2-cxa<d

iy Foxed
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47,

(1T = A

The Eurlidean algorithm is need to calculate
the

(e} Aquate vk ol ad inleger
(bd  cube root of an integar
(ct  aquare of an integer

(di HCF of two integens

IF vadiks of & 3phere 15 rational, theno which of
iha [bllowing iefare sorrect

1. Ia surface arvea s raliungl.

. Ite volume ik ratipral,

Select the correct answer vaing the code given
below ;

{gl 1aomly
 2only

{r; BothlandZ
(d] Heither 1 nor 2

I cogec B — Ain A = o Aand sec B~ gos 1= o,
1@ I+
then what is m¥nd +mInd equalta ?

(C TR

fthr 1

wl mn
idr et

If coe 8 + poc B = k, then what is tha value of
slof & — enf g ?

ial 4-k
by 4- K
fel k-4
idy kf+2
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2, bam 6+ celd, 28 FH T # wEa d, ot

I H H Fa wa bk ’
I G Bel=g-
[Q #am I T B FA-mE T T b
Al T
ey 1 sl 2 ‘! %ml
() AMi1dR T2 (b % “
e 1% 2EHA
5. T Ty E s e e G| 0 TN 1IRAAz
b B3. US 99 9 Th SR aue i wen # | i
(ay o 44 mF gt T T T TR ) 4ze wgerdt
’ % 4 Rt B s 1 e < ¢
(b3 %’ l:mmx—-%%}
ax (wy £
o B (kY H6m
dn Lok 5
o ? (4] BOm
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48. ARG iy g tHangle ingcribed in 8 semicircle of
dizmetar AB. What in ooy (A « B+ =in (A + B}
copnld b 7
wp 0

1
B =
[t} )

1
[ -
cl m
dy 1

43, Consider the followiog stulemenls :

l. EnBa=x+ L i,;p::mmll.:le for anme real
. )
vidue ol .
2. mafB=x+ ! prosible [or aome veal
"
value of x.
Which of the above ciatemente isfare correct 7
(a] 1lemly
(bt 2 aonly
ict Bothland
idl Mepther 1 nore 2

50, Wh iz the magnitude din radian) of the

interior angle of A regulas pantagon
z

{r) E
Zr

th} ?
dx

ik ?

] %

OFCH-T -LEM

&1

53,

{19-A)

The difference between two angles is 157 and
the swn of the angles in radien is % . The
higger amgde i k Linms the smaller angle.
What ie k squul 1o 7

{a) %
b %
(el %
4 %

Ceonsider the following statements :

1. The cquakion 2 sin* 8 —coa B+ 4 = 0 is
praaible for all .
2, lun %+ oot A cannot be less than 2, where

s
s —.
< KF = o

Which of the above atatements is'ore e 7

(a] Lonly

thh 2 anly

(c] Bothland2
(d) Meithwer 1 Dor 2

A Tond furve i@ to be Izid out on & circle. What
radiug gshould be uded if the track iy to change
divection by 42° in distanee of dd o ?

22

LT =—1
{4Rznme T

(a} E0m
(hy G m
ek Jam
W)y Al




B4. 3 sinf -4 T RGN A 9 4 3B, 'ﬂﬁﬁ:ﬂ.‘sﬂtlﬂ-ainﬂlpaifﬁlzlec&—ma&:q“'
jar -4 B MwasFraman k-
bl =1
y  E
c; 0 q
(dr i A
P
55. T sindsoome= 42 B el pq
umﬂﬂ+tnaﬂﬂ+ﬁﬂin2ﬁ¢uﬁuﬁmﬁimt'_? {d] i:|2-:]"t
) 1
4 5P, L 0zo P TR PR EfR cuic—fi=1
5 #, it x = min [+ cos o —coa TR
b =
4 o b o
el 1
_ . sl -1
2
W b 0
. {el 1
B8 Dain?f+ 16 oo’ § T FEE TR Fm ke
dr 2
()T
r .
by 3 8y, Tl = o faam fifm .
el 18
T 1. con B1% + sin 29° %1 AW 1 & whgF A4 R
R & |
67. A2 cox37° peind? =k B, M Z L ot GTFHR AR 0 A FA R
ooe? 47° —gin® 470 T W w0 kv T & & B ol ok
(e} k- kP R S—
I
b -kyz-k? b1 2
—
©  kyl-k @ 1k 2
) =ky1-k* W a1 A g

DZOL-T-LKM (20 - A




E4 What ia the maximum value of Sainf-4 7 |58, If cosec 8 — sin & = p% and sec B - cos @ = o,
then #what s the value of tam A7

gl —4
b -1 mp 2
q
[l [t}
|
4,3 -
idp 1 g
il P
BE. If ein & # cow B = Y2, then what s h plgt

ain® @+ oos? 0+ 6 9in® H oo B equal to?

I
8. 10 <o P s 907 such that cos (o — ) = 1, fhen
(b 3 what 4 gin o — gin B+ cow i - eoa fboegual to?
4
inl -1
w1
b1 0O
1d) %
(ct 1
. dy 2
B6.  What is the least valoe of 950 B+ 16 eps® 8 7
Wk N
My = . . .
). Conaidar ehe follewing statements ;
ey 16 B}
1.  Thevalue of 6 61 + ain 397 cannot
dl 2b .

excel 1,

2. The value of too 23— cot 67° i lems

87. lfcos 4T + min 47* = k, then whot i3 the valoe
than 0.

of coa® 4= - gin? LT 7

]l ky2-kD

Which of the abars stetermenta iefare cormect 7

(a1 unly
bl —kyz-%2
bl 2 oanly
| 3
il kJl-k ic) Poth Land 2
2
iy ~kyl-k id) MNeither 1 nor 2
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61,

E20L-T-LKM

T WA ARCD T, 2 B = 90 3R
ABT + BOZ . C¥ - AD* = 0}, 11 ~ ACD
e ek r

fal Al
fh1  BO"
3 S 1

d: 120"

TF 4 ABCH, AU = 12 om, AB = 18 om #1T 2 A
w1 wAE D ® | O BD = 4 em %, A DO
Fermer st 9

(Al  Zem
(hy  Hrem
1 4 rm

] Bem

ABCD U5 T5h8 ST d T A B, o3 D
& fivTo g% #1 Fm: P, g, & o & T T
# | 2PQR+ 2 RIP s qoar ¥ 7

(a} B
bl 1235°
(el 13)e

idr 20w

(22-A]

ABCTF FE i3 ¥ i ww EC, D W A
¥l Mulinfi Wit ¥ fF pC - 3BED 1 ADS

%1 AEY B SRR R
{al 7T-8
ibr 1:3
(ck B:T

dy 1:2

. Tty et o T i

1w T ORI W s
e = #

2. TUEN ) B ST S AT S T
¥ ot TE SR et S5 e
Frmfsm == 2

T A A TRy Fae

(a) A ]

i A 2

) 1ah2i.':1ﬁ

it TAt LT AR 2

W w5 g S, = gdw dvem ok
R WO H, C R v K, @ v e 0
Fermrs W o

tmr 2R

(bl 2O
{£] 5C7HE
id) 7 OEHY




61, Tn a qusdrilacersl ABCD, £ B = % end |84, ABC is an vquilatecal triangle. The side BC i

AEY + BOY « o0 - AD? u 0, then what is trisected ut T such that BC = 3 B}, What s
£ ACTreqqual ta 7 the ratic of AD? to AR 7
fal 30 fml T-D
bl 1:3
(hy G
[e] T
ey 0 Wy 1:2
edl  120F

d5. Crneider the following statemants -

82, InasAPRC, AC = 12 cm, AB = 16 e and AD 1.  The dipgonala of & trapezivm divide each
ja (he Bleector of & A, If BD = 4 e, then what athar prepirtionally.
if DG equal to T

2. Any line drawn parallel o the parallel
fa)  Zem gides of &  trapeziurm  divides  the
neon-parilel nides proportivnally.

{b) Zcm
Which of the above statemants isfemm carrvect *
[e] 4 rm
(] 1ooky
‘dy Aem &) 2 only
¢ Both 1l and 2
8%, ABCD is a ryelie quadribateral, The bisectors id) Neither 1 por 2

of the anglap &, B, C and D cut the chrle
gt P, @ R and 3 rvespectively. Whal i

£ POR + 2 RSP aqual to ? B8 If H, © and ¥ are respactively the height.

eurved gurfece ares and velume of o cone, then

(2] what 18 3VH? + 3V equal to ?
(b} 136 inl  C'H?
(e1 180F k) 20
] w) BCEH?
(dy 270 -
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sy,

T,

DZCL-T-LKM

A em Ta=am ot d ) T I fE E, 2
=ma e 8 F et g o et
¥

(el 612
by 1024
(c}  ZBEM0

(d} 512000

T T A E AT 44 o 3T 4l em ¥ 1 TR
E?F*Iqmﬂﬂcmﬂq?ﬁmﬂﬁﬁﬂ
"
fal M ene?
ibl 136 cm?
LAD emd

180 e

ich

ichh

v FEEgYA & Rl O o 5w e # o
o ahr Rl % e § s T s
* | Wl T A A

48 7 ¥
36 T S
34 AT YTl
PECE =]

Ll
ih)
Lo

1

T EERm YR o eEwe w8, af aftgw
+1 o 5 om 2 it ®el A T e

4 cm ﬁ ?
(al M
ibl LB em®
et 16 em®

ittt 1 crn?

(24

7.

71

Td.

A}

T+ Fnra d, it F F TF (deree T )
it ¥ | Fafiia & & s =% el =
I T W w2

s} 1:2:3

b} 3:4:5

ey 3:6:7

iy ®:T7:A

Th T e § 10w # gty el e i
10% =6t FHT F At 2 3 m s % A
T =7 §m 7

(w1 4 gl 3t T 1w

ibh 15 Jia
L K T
iy 10 T T

AT % gy T P s L o4 R
T WIEAAT T A T R

{fa] 1:18
by 1:12
el 1:10
idl 1:8

wE 3z & wang, de it S=r w20 om,
15cm 3 W em # | a5 m =t =al, ¢15 m ¥
maﬁ'{ﬂ-m#ﬂlﬁl’émﬁﬁﬂmfftﬂﬁﬁ
Tl 391 B arayae 3 7

12454

11250

G780

THf® H & we T

T}
(b}
ig)




67. How many solid lead balls wpch of diameter
2 mo can be meede from 7 anlid lead bail of
radiuy & coe 7
] 514
(h] 14ke4
e D5E00]

(c}  H1ZH)

B88. Tha two sides of & trangle ara 40 ety ynd
41em, If the perimeter of the teiangle is
90 cm, whet is ite ams 7
(af} S9Dem?
thl 135 cm#

e} 18 om?
idy 180 ¢md

88. The dizgonaly of a rhowmbys differ by 2 units
and ita perimeter exeweds the sum of I
diagenals by & units. What is the ares of the
rhombuy 7
(a} 4B squape ynits
i.h] Wi mquars uniks
24 aquats ynits
) 12 kguare unity

70, What is thu area of u right-angled tangle, if
the radinsg of the cireumwirele 5 5 ¢m and
altitiuds: drawm to the hypotenus: i 4 cm 7
(el Ul em*
thy 18 om?

&) 16om*
id) 10 ¢m?
DZCL-T-LKM

I,

T2,

T3,

74,

{25-A

In & triangle, veolues of nll ths anglea are
Enlogere (in deyree measars). Which cne of the
Fllowing cernof he the propartion of their
messaras T

ml 1:2:3
thy B:4:3
el 580 T
dy 8:7:8

The: leogth of & ractangle ia increased by 10%
and breadth is decressed by 10%. Then the
Brea of the new rectangla is

ta!  npaither in¢ressed nor decroased
Ml inerensed by 1%

tel  derreazed hy 1%

(d)  decreased by 10%

The surfaee mreas of two apheres are in Lhe
ratic 1 : d. What is the ratie of their valumas ¥

lat  1:18
o 1:1Z
et} 1:10
dr T:d

The length, breadeh and height of & brick are
em. 15¢m and 10cm reapectively. The
number of bricka mequired ta corstruet a wall
with dimeneions 45 v length, 0415 mi breadth
atu] & m height is

{al L2490

¢hy 11250

2l &THO

(dl  MNone sf thi nbave
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7R = W% FEdA & T A w5 ITE,
Tr oo SRR W e A g, A
g Fo A
(A) TN
(b) HEEA
(e A

(dr A

wF HERERA & TR 11 km To G000 T
=omen & 1w i frem o g
mm#_:g}?}

ar 175 cm

bl dE ™

el Theom

td) 140 em

B et ® WA T STE L4 B oA T
HATH FT UM 4 c 5 B | T Sl
TR TR ¢

(w? 2 64
ib)  16: 25
cl 49:16

idl G:-d

T8, ﬁﬁﬂiﬁﬂﬂﬁ,'ﬂﬁﬂih=ﬁﬁﬂtﬁiﬁt,

A 2 a e o O wer d 2
Y-, I

by 12

el 1ane

Wiy 15

5. uﬁqmaﬁaﬂtﬁaﬁﬂqﬂ'ﬂﬂmﬁ,ﬁt
9 & SR H TR EEATS B OSEEE W
L

od L:om
by 2=
Wwh 3:m
idl 4w

po. ©F TTR SR gt ® sl e
9 o (o B E 1 W iR W R F0

R

i3] @
(b} 130
fcy 360
d: 430

(26— A




75. If the sum of all interior anglea of a rugutar
polygon is twine the swny of gl jte exterior
angles, then tha palygon is

{#) HHexapgon

(b] Oectagon

(v} TMMonagoo

(d)  Dhscagown

A bicycle whee] poakes BOO0 revelubioos in
movig 11 km. What is the radive of the
wheel 7 (ASUME T = %]

w175 cma

tht 33 ¢

{el T

(dr 140cm

7. The volumes of two cones vre 10 the ratio 1 - 4
atd their digmuters are in the rdiv 4 . 5.

Whet ia the ratio of their heights 7
f#1 25 .64

b} 15:2A

iy F-16

idi 5:9

DZOL-T-LEM

L7 - A

[Nnatipngh ABC, f 2 rA w3 2B =6 2C,
then what is ~ A + £ Cequal to *

fal  M°

bl 120°
1) B b 1
(] 180

If the perimeter of a citcle and a squpre ate
equal, then what ie the rutio of the area of the

circle to that of the square ¥

il 1:m
(h* 2@
el 3:m
idt 4

The lengrhs of the sides of a right-angled
triangle s ennsecutive aven integers (inoomi-

What ia the product of thete integors 7

iny B0

(h} 120
ey Jed
(d} 480




&l.

B2,

DZOL-T-LKM

v fi@ ABC A mr smaa & 1 W yEatt an
MW AC & 9 M AT N o s k) 3R
TR A 0% i s Awred T 2 MON
Frms s i 2

(gl e
by 100"
el 1100

rtd]  1E0F

TF TR g A gast F @l m g
B.450 T TS ¥ 1 soek o] & o w7

iab 50 %FTF
b A5 TS
e Gl BETE
idy &5 TR

% e # uw metew e e Seee sl
WH AME & § | gk fiyw & 3w suhe
T # dEn kT R, d oL T e
ko

(] 4
‘bl 2
I} 1

fel}

{ZB- A}

B4 I AT R WSO W SO @ et R | TR

qimrat & e o R 7
(a) m:'n

b} h:m
&) m:io

) mi.n

R ARG it mieast an & | &R ap w o=
fig PR, o Bferfigs # & Fiwor v i 2 o

ta} TV PAR W STwd. TR PAC W
S H i ¥

b Frgx pAB F1 d9wR, fYE PAC &
HYTAT & T B

e BT PAR W dhwww, Ba pan ¥
HAFE =1 -t

(i 3 PaB W #%d, Bwa rac &
HTEE T AT %

B r % T% 99 % T W 4 B e I
WE T Swwed 5ar ¥ 7

. 1
{ai EI'EE
| .- B
bt = B - = =
21' [ 231.&2 EM.‘E,J
w  Lefa- gin® soa |
2 L A 2!

(A} %  ain % Con g




El.

DEDL-TLEM

A gircle i3 inacribed in a trispgle ABC, It
tiuches the sides AB and AC at M and N
tespectivaly, If O ia the centee of the cirele aad
£ &ow TG° then what is 2 MON equal to 7

(R M

by L
ey 130°
(dl 1207

The sum of the squares of sides of a
right-angled Liangle ie 245 agquare wunita.
Whet is the lungth of its hypolonuss ?

(o} S0 unika
(b} EG units
ey G0 units

d) &5 units

A triangle and a parallalogram hove egqual
arenz abd enual basea. £ the eltitude of the
triangle s k times the alhitude of the
parallelogram, then wrhat ie the value of k 7

fal d
bl @
el 1

i}

=N

’ (20-A)

B4, Arons of twe aquarse are in the ratic n® : ot

What is the ratio of their permeters 7

(A)  m:n
ih* n:m
it m:o?
iy miin

Al is the median of the triangle ABC. IT P is
any paint oo AL, then which one of the
M Lonar rugr 1w crronct T

(w]  Arva ol trinnele PAE iy greoter than the
area of trianpgle PAC

(bl Area of triangle PADR is equal to area of
triangls PAC

(el  Ares of triangle PAR & one-fourth of the
area of triangle PAC

(dy  Area of triongle PAT is half af the area
of triangls PAG
What ia the area of o segment of & civcle of
radius r subkending an angle 17 ot e ceptre 7
o} Sr¥o
2

(b} ;rz [EI : Eilng meg:l

e %lj |f{l - ain% mag:l

{dl %rﬂam% £naa {Eh




a7. TF for@ ARC ® el o woamem 2 | oom
wifam ff AC m W firg P % R BC W W
Py q & | frefofm w8 & sRomd wh
- '

L agt+ BPY - AB* 4 PP

2. Al=2PG

e fim Mo g2 WM FFE /F I AR
FTER 1

(b) ¥ 2

() 1 2 JE

[

dy TATLATA D

TN EAR i A geie Firs v oWl W@ o
v A w7 # 6F T o % il w g
v fi 3 TR fowl &t ol o | 3R
7w ikt & BT 2 S 42 oo B, A
e ferdy i e o ¥ 0

R i rt—%]

lal Gcm

Tem

ib)

e 10 om

idl 14 cm

DZOL-T-LKM

{3—A)

T Wl W T e e
ax & | 7 WA 5 FEE ax 3, 9 T B
KT % 7

o wif n=%h

i1 11xd

i S2x7
{o) gl

it GEx?

i v W ., digd, 3=, <=k

AR Al T WERL g, oo WK, W

Lol ltems oty
F q r
it 1

1
1] E

R
=

=t
. *a .
) —

t




87. ABC is a triangle right-sngled at C. Let F be
any porint op AC and 4 e any point on BO.
Which of the following saemenls st
tuTTec) 7
L AG% s BPE - AR® + PG
2 AB=%2PQ

" Select the correct answar using the code given
t_lnl:-lvltl'.l.' :
fa) 1 ondy
‘bl 2 r;n]}'
{e} BathlandZX
[l Neither 1 nor 2

$8, Four circular coins of equol radice s placed
with their ¢entres coitwiding with four vertices
of a equare. Each coin teuckes bwo o4lier coina.
If the uneovered area of the squere is 42 em?,
then what ie the radius of emch coin ¥
{Aasume I = E 1

T
(a} bHem
by Tem
{=) 10 o
{d}y Meom
D2oL-TL K '

(31-A)

The radui of the Mal arealnr Tuees of o bueket
ars ¥ and 2x. [F the height of Uhe bucket o 2x,

what is the capamty ol Lhe Duecket 7

=2
{AsELE: I = 3 1

] 1ix?
k) 22x
fel adn?
id) BBx?

IfEp, g r & and &t r&preaen.t length, breadih,
height, sorfas: srea abd volume of 8 mibeid

1 1 1
reapectively, then what i " + a + - equal

b ?
Lah *
L
w2
F|
M
g
24
(d) X
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oEr 2ree] o aden & d20 ¥ | T il o
T et W a9 A 9,6, 7.8, 4,9, 8,5, 4
7 § | mf G2 el & St St gier
TR 7 '

{2l &

bl BE

el 7

dr 7B

Ak 7 qEEl, f & e 5 e 1
¥, 1S o e g W 180, 191, 175, 111,
154, 141 2 176 7 7, Al YEEn ) michw
T ¥

tal 111 gm
(by 154 gm
[} ITH gmn

idy 176 gm

= wyfr it Fafifir it § & St =
am, Bl gFR i W T aw g & st
AEFT I Frees & o was ot

(A  EAIEAL T

b} VI AT

icl W

] TR

[32-A}

B, A 1 AT & oA ome &, A sm-Ra

H amas o Yl v ol 2 o
(a1 T R e
(b1 e =

ey W 9 ET

tdy =9t i =TT

o AR # 7 At oy s 2, 5, 12, 14,
46, 40 3@ g0 =4 | 5 = 9 TR T AT
fomft o 7 &, ofem A g wn gl
oftan € W 2y o 15 WY g Amt R, Al x
cal ek

LA} 1
fhy 2
1 o

idt 4

. T T E 0 B o a as e

T | TTEw W AT wE 50 kg 1w
s w40 ke & ) TR A AT ) Sner
feraft s 2

l&] 10
it 13
ter 20
d 24




L)
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Fiftesn  candidates
examination. The voarks of e rundidates »he
paesed in the examination are 9, 6, 7. 8, 8, 9,
€, &, 4 and 7. What iy the median of marks of
all the fiftsen candidatea 7

eppearedl im Aan

k6

{h1  hE

iy 7

dr T5

If the vield (in gom) of barley from ¥ plots of
ghze one squen: yord each, were found to be
10, 181 175, 111, 154, 141 and 178, then
whet s the medion yicld ?

{fal 111 gm
bl IG4 gm
ol 1l75¢m

idl 176 gm

Which one of the Tollowing 1measures of central
tendeniy will be vsed o detormine the
averzpee nire of the shoe aold in the ahop ?

ral  Arithrwtic e
(Bl C(resmetric mean
i) Median

idl  Made

{23 -A0

When the elask inbervals have equel widih,
the height of o rectangle in 8 hietogram

TERFEAEER

ey Width of thie cloms

ibY Levwer clras il

[e] Upper elais luvan g

{dt  Freguency of the clasa

The ages of T family mewbery gre 3, 5, 14, 15,
3%, 40 anod A0 vears respectively. Aflter 5 years
a oew romecaber aged ¥ vears o added. 7 Lhe
mean age of the family oow gees up by
1'S yeors. then what is the value of £ 7

tab 1
iy E
e) 3
dp 4

The mean weight off K sladenty e 8 clasy e
46 kg- The mean weight of boys is B kg ond
that of girla ia 47 kg. The number of boye
exceeds the number of girls by

val 10
by 15
) 20
d) 25




9. T 25 &5, T4, 75 B3, 76, 17,16, 7, 14 ¥ UR|e0. 5 4 6. .. 100 = mica w=
o= % de A fm o faaoEt s s

TR Fm R v (a]l 48
el -1 ihy 4D
LI wh o G0
w1 il Bl
2

100, 3 FEmH F reTE W MR eimr Ore

aE, qhﬁﬁ;.ﬁ*ﬁ.nf#.x+ﬁ.x+ﬁﬂmmm .
FH: 10 #A 12 | 3T BEEE ey AT R

¥ | Tag o e o =7 R 7

26
{far m (a) q
thi m-—1 ] J1Z0
o) el @ 11
dr m .— ) I_-:‘l.".- 144

OI-T.-LKM [ — &)




£7. What iz the algebraic sum of the devistions |88,
fram the mean of & sac of valuea 25, 65, 73, 75,
%3, 76, 17,15, 7. 14 7
s} -1
(bp 1
FJd) 1
) =2
8. The mean of five ohacrvationy x, x + 2, x + 4, 141,
X+ G x+ 3w m What is the mean of the Grat
three obhsamrations ?
(al m
(bl -1
el m-2
) m-3
DZCHL-T-LKM (25-A}

What i the median of' 2, 4.6, .., 1007

{a) 4A
{1 4B
igl ]
g 31

The banuoic mean and the geometric mean
of owo mumbers are 10 awd 12 cerpectively.
What 5% their arithmetic mean 7

(at %
thh 120
ik 11
d) 144
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& HH = fam oy
SPACE FOR ROUGH WORK
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TEST BOOKLET
ELEMENTARY MATHEMATICS

e .
Time Allowed : Tieo Hours : Maximum Morks : 100
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am

i
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INSTRUCTIONE

IMMEDRIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION. YOU SHOLLD CHECK THAT
TiNE TEST BCOKLET DOES MOT HHAVE ANY UNPRINTED UK TORN OR MISSING PAGES OR ITEMS,
ETC.IF 801, GET [T REPLACED BY A COMPLETE TEST BOMKLET.

Meoass durle that it in the candidate's ceapoosibilisy to encode and Bl b the Buoll Momber and Teat
HBnoklat Beries A, B, C or D earcfully and without any omission or dgiscrepancy at Lhe approprinee
aces in the MR Answer Shoal. Any amisdonddiscrepansy will rendor the Anewer Thect Lable far
relectlon.

Yiouw have br enter your Boll Humber on 1he

Teat Booklet in the Bux provided alongside.

I NOQIT write onything afae o0 the Test Booklet.

This Tesl Booklet containe B itemy (guestioos), Each iten 8 prictsd both in Hindi and English,
Each item comprisea four responeas (answers). You will salect the reapanes which you want to mark
+n the Anewer Bheet. In case you lfee] that there i3 mmore thao one correct MeRponss, mark the
reaptivg which you consider the hest, In aoy case, cheose ONLY GNE response for each item,

You hava ta mark atl your reaponses ONLY on the soparata Auewsr Sheet provided, Sae ditection
in the Anwwar Sheet. .

A items carry equal marks. .

Befure you proceed th mark in the Answer Shest the response to various iteme in the Test Boolclet,
you have t Fill in some particulary o the Answer Sheet as per instrctions sent ta you wilh your
Admiesion Cestilonty, .

After you have completed filling in all youy respanies oo the Answer Shest and the examination fag
roncluded, you should hend orer ¢4 the Invigilator ondy e Anewar Sheet. You are permitted to
tuks away with you the Teat Baoklet.

Sheeti for rough work are appended in the Teat Boaoklat sl the end.

Ponalty for wrong soswars :

THERE WILL BE PENAILTY FOR WHRONG AMEWERS MAREKED BY A CANDIDATE IN THE
OBEFECTIVE TYPE QUESTION PAPERS.

[x} There are [our Allarnslives for the anewer L every question. For sach quentrm for which & w-m omrwar
u

han I:tr:m iiven by thu candidrtea, one-third of the mprks popigued g 1hal guestion will be vtad b
penakby,
{iiy  In candidete gives mors than ane abewer, it will be treated =2 a wruog aneeer even O vos of the gvan

dluiwers happens to be correet and thers will be apme penaity ag 2bove to Uhat question,

Liii} rl;m}beatlﬂn in loft biank, i, oo anawer {3 given by the candidate, thers will by oo proaliy fom that
question.
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